Efficiency vs Dxy(PV)
0.8,

efficiency vs dxy(PV)

5 10 15 20 25

530151
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__CMSSW_100ti
—— DQM_V0001_R000000001__Global__CMSSW_100timeHPTT
[Efficienc]| —— DQM_v0001_R000000001_ Global__CMSSW._100timePLa

efficiency vs dxy(PV.
o o
(4] [o2]

o
N

o
w

: l‘ ‘

0.2]

]
‘
‘
‘
‘
‘
‘
0.95

—1—08—06— 4020 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5

efficiency vs dz(PV)

0.4F

0.3F

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

i

efficiency vs dz(PV)
o
o

o
e

o
»

To
SRS e —

TP dz(PV) (cm)



	Contents
	Page 1


